
Что узнали. 
Чему 

научились.



Количество шари 
ков в одной пачке

Количество
пачек

Общее количество 
шариков

Синие шарики 60 шт. 3 ?

 320 шт.

Красные шарики 70 шт. ? ?

1) 60*3 = 180 (ш.) – синих шариков

2) 320 – 180 = 140 (ш.)  –  красных шариков

3) 140 : 70 = 2 (п.)



1800 14 000 4800 1890 14 000 4200 7200 1890 5400

1) 4 • 9 • 25 • 2 (П)

5) 25 • 6 • 7 •4 (Р)

4) 18 • 7 • 5 • 3 (Т)

2) 14-25-10-4(О)
3) 8-15-10-4 (В)

6) 16 • 9 • 5 • 10 (Я)

7) 45 • 6 • 2  • 10 (Ь)

П О В Т О Р Я Т Ь


